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(a+ b)? = a® + 2ab + b?
(a—b)? =a®-2ab + b?
(a+b)(a-b)=a*-b*
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(a+b)(a® —ab+b*) =a® +b?
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(a+b)a-b)=0" +®@

Q' =022
(a+b)(a-b) =D+ =a>-b?
. (a+b)(a-b)=a®-b*
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p=D(P*+ (P +1)=p* -1
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(x—y-1)2=x>+y>+1-2xy—2x+2y
(=x+3)3 = —x + 9x% — 27x + 27
(a—b)(a® +ab+b*) =a*-b?
(P=Dp+ 1>+ 1(p* +1) =p* -1




(x+1)(FP-x+1)=x>+1

a+2b-3c)® = a®+4b2 + 9¢2 + 4ab — 12bc — 6ac
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@(xz—xy+y2) (2 +xy+y?) = x* —xB? +*

® (x-1)°(x+1)2=x'-222+1

@ (x* - xy+y?) (X2 + xy +5?)
= (& +5%)* - ()
= xd b x2y? 4y




4. (a+b-c)(a-b+c)E ANSHH?

D a? +b% -2 -2bc
@ a?+b%-c%+2ab

® a®-b?-c?-2ab

@ a®-b%>+ % -2bc
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at+b-c)la-b+c)
={a+(b-c){fa—(b-c)}
=a?-(b-c)?

=a?-b% -2+ 2bc
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x+y+z=1Laxy+yz+zx =2, xz=39 M, (x+1)(y+ 1)(z+ 1)
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(r+ 1D +1)(+1)
=xyztxy+yzt+ax+x+y+z+1
=7
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(a+b+c)?=a®+b>+c? + 2ab + 2bc + 2ca

(a+b+c)(a®+b*+c?—ab—bc—ca) = a® + b3 + ¢® — 3abc
(a+b)? = a3+ 3ab + 3ab* + b3
(

a-b)?=a®-3a?b + 3ab® - b*
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(@*+a+1)a®>-a+1)=a*-a®>+1

@ @+a+)(a®*-a+1)=(a®>+1)?-d?
=a*+a’>+1
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